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The 19th IMC International Mathematics Preliminary Contest (Taiwan)
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( B )l. A(5,4)~BR0,-6)~C(-1, k)3 T o +4pRL =8> EF A-B~-C=224tkF- IR
Rk EE 552 (A)T (B)S(C)9 (D10

<fa45>

y=ax+b > % »(5,4) ~ (20, -6)

Sa+b=4 10, e 2,
o D15a=100a=2> b

Y=ot 8 x (1K)
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( B )2.Useabracket OC to support a wooden stick 4B on a horizontal table top. Press
point 4 on the desktop, as shown on the right, and point B is 30 cm away from the
desktop. The height of the bracket OC is 12 cm. Now press point B on the desktop,
the height of point 4 from the desktop is cm. (A)18 (B)20 (C)22 (D)24

<fE$7>

"."OC//BD — A0:AB=12:30=2:5 > A0:0B=2:3

..OC//[AH — BO:0A=3:2 > BO:BA=3:5=12:x » x=20 » i% B °

( C )3.4°® > £ABD=116° > ~BCD=36° > P £ A=7
(A)70° (B)72° (C)80° (D)88°

<fZ$7>

""ABDE &_fIp £ ¥

. ZE=180°-116°=64°— £ A=180°-64°-36°=80° » :£ C -

( C )4 4B Ti7e i3 ABCD 2§25 EFGH Ap 2%+ [ ~J & 8L »
% /B=60°» ~EHG=115° > /BJG=120°> B| LAIE=
B - (A)115 (B)120 (C)125 (D)130

<jZ{7>

©® £D=2B=60°; £F=/2EHG=115°; £C=180°-60°=120° ; ~BJG=/FJC=120°

@1 #73), DCJFI * > L AIE= 2/ FID=540°-120°-60°-115°-120°=125° » i£ C -
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((C )5 5582 FOyf 2 3583 Gle) > B3I 2 0W) » 4 R I SF0:G020F 5
EIRR R L 9
MFFE30x) 45 R B) a5 00 435 3R
OF 53000 #5553k (D) F3200 55 R
<fiz47>
F(x)= Gx)xO(x)*R — 3F(x)= G(x)x30(x)*+3R
% R=30(x) » #N=3R > % C -

( D )6. %X Hht16 5 x-4h1 X > & Ex-1601B 30 5 plA=2 (A)12 (B)-12 (C)16 (D)-16
<fZ$7>

F(x)=x3-x*+hx+16=(x-4)(x-1)O(x)

F(1)=1-1+k+16=0 > k=-16 » ¥ D -

( B ).%«® PA-PB>F** A~Ba 8> CEB-LF} » %~ P= 80° | LACB=

B 7 (A) 40°(B) 50° (C) 60° (D) 70° )
<fate> ) )
@ 2L /T04 ~ OB
2 AOB=360°-90°-90°-80°=100° P
ZACB= ZAOB=3x100°=50° » & B * ) i
( B

(A )8.4c+ B> =3 MAD~AE ~BCA S>> FlO* D~E~F= 8> £4D=8 p|A
ABC % £ =7 (A)16 (B)15 (C)18 (D)17

<fE$7>

A~B~C & wEA 272 gk

.. AD+AE=AB+BD+AC+CE » ® BD = BF ~ CE=CF

..AB+BD+AC+CE = AB + BF + AC + CF

C.A\ABC % £ =AB + BF + AC + CF=8+8=16 » i£ A -

(C P At® ABL A s < Fei . L[ CoDa 8-
£AB=16 CD=12 » ABz < §E 5 5> 4 FI#rF 2 k7 %
B (A A )E AR P2 (A)32r (B30 (C)287 (D267 AB

<f#47>

#5 O2Li*OH 1 AB > R AB* H®.» ¥ :#3:0C ~ 04

OA° = OH +AH =5*+82=89 a
OC’ = OH +CH =5*+6"=61 ) ,
%75 % =04 1-0C 7=(04 -0C =287 » i C « W
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( B )10 4] > & #4p Bdpdic > A #dp 10 s4p 2> ¥ 4p 3>
ErdpE 4 A5 F 3 eikrd o BRI E 60 Y 4y
7> G4pE 8 A PRIV LRAF > pliird > S E
10 ... o Rt AL 5 2023 & BUN- §3L 40 2 (A)* 4y (B)
P4 (O& 4p (D) 4p

<fE{7>
SR AE dp o EBe 1 2 3 4 5
8 7 6
9 10 11 12 13
16 15 14
( B )11. The picture on the right is a checkerboard with an interval of 1 4 E
cm. Andy's route is A—C—D—B. Paul's route is A—~G—H—B. ! Al

Judy's route is A—I—J—B. Joyce's route is A—>E—>F—>B. Which [\ 7 \
person has the shortest distance? (A) Andy (B) Paul (C) Judy (D) \
Joyce 5ol

<fat5>
Andy e 12 =2+3+/24+2=4+3/2=8.242

Paul e 3 =1+/5+3v2=7.478

Judy 8, = =1+5+4=10

Joyce £t j% =2+/5+/17 = 8.359

P\2=1.414 1552236 0 V17=4.123 » i£ B -

(B )2 4c+B P:iRO*-8>PA~-PB>RO> A B> 2 £P=90°; &CD** ]
O E*® RP4A~PB> C D> AC=2>BD=3: |}l O eh& # 5 2 (A)25 7 (B)36
T (C)49r (D)64

<fE$7>

BACP=x>2 C+ D P~ ulEd 75038t

..AP = PB—x+2=PD+3 PD =x—1

-'-@2:@2+@2—>52=x2+(x-1)2 ' x=4
RIPA=4+2=6 » * PA =04 » | O chd =04 =36+ i B »
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( B )I13. 4% B » ABCD 8 - 587,83 > AD=5> AB=12 > #p* b»___ ¥ ¢
RAPEER A -CATRELE L WA LMN o RMN=? )

(A) = (B) = (©) 2 (D) = ’ \—

<fZ47>
A Ca Bt E->MN1LAC? MN= 4~ AC

" ACNO~ACAD(AA #ni2) » 2 AC=BCHAB =5 +12°=13

—= 32532565 —r 65 _ 65
..NO:5=6.5:12 » NOf—fEfZ’MN 2NO-= 2X——12

( B )14. Asshown in the picture, the side of the bucket is trapezoidal,

and the thickness of the bucket itself is not counted. The bottom  ,
surface of the bucket is 8 cm wide, and the top opening of the
bucket is 20 cm wide. The bucket height is 12 cm. Peter fills the
water with a depth of 9 cm in bucket. What is the length of the
liquid level AB in cm? (A)20 cm (B)17 cm (C)12 cm (D)8 cm

<jE$7>

# C g% » CE//BD

BE=CD=8 — 9:12=AE:(20-8) » AE=9

AB=AE+EB=8+9=17 » ¥ B *

( B )IS. 4@ » AD//BE » BD//CE » % 0B=12 » OC=16 » p|AB=" 0
(A)2 (B)3 (C)4 (D)5

<f#+7> A

Bk AB=x » ® AD//BE » BD//CE B n

.".OA4:0B=0D:0OE=0B:0C — (12-x):12=12:16 > 144=192-16x » x=3

J.AB=3 > % B o c "

(A )6 32— nigeh- B ABEN- T mfam- Bp & o BJ +——‘?
1 1
(A) ; B)2(0)3(D) 5

<fE$7>

36no =180°- —D ’%00+3’61—?°=1800,l+l:%

E A

( BHI7.+BIEd & ~ 6 3 f2 3“5%@ FARER A A o FE T 4] KL

Ao R A d AT 452 (A)210 (B)231 (C)253 (D)279

v A EOES)
Taiwan Preliminary (Grade 9)



<fE$7>

BRE#7 n R

4345+ A+ 2n- 1= =n?=441 > n=21

A d FAA=1+2+3+. +21=(1+21)x21+2=231 » i B

<fE$7>

Bk & 1B 4e T%-" x
(130+x)(350-2x)=46500
45500+350x-260x-2x>=46500
2x2-90x+1000=0 » x*-45x+500=0
(x-25)(x-20)=0

=252 x=20

BT A d 130+25=155 & 130+20=150
Bl a+b=150+155=305 > i B o

( B )19.1fa, b and ¢ are real numbers such that a*+b*+c?=9, then the maximum numberical
value of (a-b)*+(b-c)*+(c-a)* is .(A)30 (B)27 (C)15 (D)18

<fE$7>

(a+b+c)2=a2+b2+cz+2ab+2bc+2ca

L 2ab+2bc+2ca=(a+b+c)2—(a2+b2+cz)

(a-b)*+(b-c)*+(c-a)*=(a*-2ab+b*)H(B*2bc+cP)H(2-2ac+a?)=2(a*+b* +c*)-2(ab+bc+ac)

2P +A)-2(abrbetac)=2(aP b AR - [(atbro) (a2 b+ =3(aP b ) (atbtc)

2 (atbte)’>0 > § atbte=0 > F I E=3(a*+b +c?)-(athtc) =3x9+0=27 > ¥ B

[a=(b+)p% » a=(bHe)’=2 » Tra= \/5 =22, =22, g

15 2 7 10
A)l6 (B)14 (C)12 (D)10
Ly WIOEHOEZO) DR
15+13=7+21 13 8 7 «x
2+8=4+6
7+7=3+11
10+x=4+16

..x=20-10=10 > ¥ D -
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(B 2L - #4&HEFR-+4> Rad 2RO 1254 TP dp augd 2307

AR RGER S GT LR R T L AT Y (A)55 (B)66 (C)110
(D)132

<fZ{7>

11+10+9+... +1=(11+1)x11+2=66(=% )

B -

( D )22.+ %7 16 B ¥
Oizdy - BheF BlAzk - £ 3 BlA R ehfieF “Thchiz ~ 54
B F e OF T O BhF Y 0 EH - BEFEAL R
Fo Blde kenlic 3 AT T s S B il F frx e OF T 4 Bk
¢ T - BHEcE EAek > L B4 ki F A ehiT
S H @ T drxce @B ST 1 BT Blds koo

r|v m||l
t |w|n |5
s | p|q |4
16 | 15|12 | 10

Bl % 4 B4 A 4o cofe A Rh 0 3R T A 4382 (Am=3 (B)r=T

(C)w=10 (D)p=10

<fE47>
fr=at+b+ctd+x+y+z atz |aty |atx | a
m=1+(12-10)=3 ; v=3+(15-12)=6
r=6+(16-15)=7 ; w=5+(15-10)=10
p=4+(15-10)=9

JAED -

b+z | b+y | b+x b

ctz |cty|ctx | ¢

d+z |d+y |d+x | d

( C )23. The right column is the division of positive integers, the remainder is 7, and the

number in the bold box is not 0. Find a+b-c-d=? (A)3 (B)4 (C)5 (D)6

<fE47>
PR SRAVE P ][]
% a=8 % a=9(% &) )%D
@[] [1] 14
@Enn WEHW [ [
8 9
o7 o =
(][]
(8] 9]
7 7

J.a=8 > b=5>c=1d=T7> R 8+5-1-7=5> % C~
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(A )24 dEa2FF1F33@B a7 122 17p()F 127 24p() &8
AP F3 AR PR N kAt B F R EY A RGP

FL574) 5 B) 5 (O (D)2
<fate>
(F P =) (P - v 2) (- E 2 (E 2 E) (B T (T )
£4 648
B B2 S EH PG 3 A E=

1.
—-5iF Ao
S

N Ww

( B )25.n!% 7 Ix2x3x4x...... xn (5]4e:41=1x2x3x4=24) » 4o % 3+ 2 15!=130767a368000
» Bl a=? (A)3 (B)4 (C)5 (D)6

<fE47>

15\ dcs 2~3~5~7~11~13

130767 a368000 ## & 11 1% #c

(3+7+7+3+8+0)-(1+0+6+a+6+0+0)£_0 & 11 i #ic

28-13-a=0 > a=15(% &)

28-13-a=11 > a=4 > £ B °

<¥ jz>

15! 8. 9 iz #k
1+3+7+6+7+a+3+6+8 H_9 i #ic
41+a=45 > a=4

S PEMQSANRS A ES0A R AR EA 0 T W EAEL)

1. 4B > ¢ 4vw §3, ABCD % T 7w 1§79 » F 4D} - 2 > BF§vCDAp 2 *t E » ACHv
BFAR 2% G+ FNAGF e ff 5 4T > H = > ABGC e f4 5 9L = H = plu 18
25 FGCD i ff % % 0 T % H 29 ;

<fz47> /
NAGF~/A\BGC A E /
. FG :BG =49 -~FG-BG=2:3 .
NAGF:NABG=2:3 — 4:/\ABG=2:3 » NABG=6

NABC=/A\ABG+/\BGC=6+9=15 > * NABC=/\ADC B C
v 1§75 FGCD % #=AADC-NABG=15-4=11(% = ¥ i+)
Foll T2 H >
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2. X R #cte 1911 ITJD‘E—\E? LEH BlA AR 74 # > F &~ 74+41911=1985 & > £ &
2022 & > grind TincmE &y koo OSSR S By o RO T A 00
OQE - 7T )P+ 58 i fo 0 2B

@ o1 HcF 11 8

@Rt 4} 165 £ 31 125

@ 3| g ﬁi"ﬁ% 10

O©f # 3| ehfcte [ ]

©5is - BH I * TPl 2 Tfi('ﬁfji)ﬂ'l 4 g L E o IR éjﬁi(%&f)'ﬁ I e > Hoehdic
F oow R = HE R (é:,]“)m—‘f- WE RS D 8 & %,Tﬁ;{ifi (&T)m? g T

e

Edx R 014 (2022-x) &

(8+16)x125+10+ 1-(2022-x)=100y+x

100y+200+_1-2022+x=100y+x

200+_]-2022=0

[ ]<2022-200=1822

% [=1822
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